INTERNATIONAL INDIAN SCHOOL, RIYADH

Ac. Year 2008-2009
IX – XII SECTION

CLASS – IX
SUBJECT – MATHEMATICS
-----------------------------------------------------------------------------------------------

One Mark Questions :
1. Find if the value of ‘k’ if [image: image2.png](x—-2)



 is a factor of [image: image4.png]2x% - 6x* +5x +k




2. In which quadrant do the following points lie ? ( 5, -1).

3. The cost of a notebook is twice the cost of a pen. Write a linear equation in two variables to represent this statement.

4. An angle is 160 more than its complement . What is its measure ?

5. The measure of an angle is four times the measure of its                  M

supplementary angle. Find the angles.

6. In the given figure , [image: image6.png]PQ



 and [image: image8.png]MN



  intersect at O,
Determine [image: image10.png]


 when[image: image12.png]
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7. The edge of a cube is 10.5mm. Find its total surface area in cm2
8. Find the median of first ten prime numbers.

9. Two coins tossed simultaneously, find the probability of getting one or more tail.

10. In a parallelogram ABCD, LD = 1050 , determine the measure of LA and LC.

Two Mark Questions :
1. Find three different irrational number between the rational numbers [image: image14.png]


 and [image: image16.png]



2. If [image: image18.png]V3+1



 +[image: image20.png]V3-1



  = [image: image22.png]a+ b3



 , find ‘a’ & ‘b’
3. Find the value of ‘a’ if [image: image24.png]x+2



 is a factor of [image: image26.png]


 - 2a[image: image28.png]x? + 16




4. Find the value of [image: image30.png]—27b%ifa—3b= —



 and [image: image32.png]



5. In the given figure, if AB||CD, (APQ = 500 & (PRD= 1270 , find [image: image34.png]x &y






                                                500                                                         


6. In the given figure , T is a point on side QR of [image: image36.png]APQR



 and S is a point, such that RT = ST. prove : PQ + RS > QS
      S                          Q


                                              R



P

7. ABCD is a rhombus & P, Q, R, S are mid-points of AB, BC, CD & DA respectively. Show that PQRS is a rectangle.
8. A triangle and a parallelogram have the same base and the same area. If the sides of the triangle are 26cm, 28cm and 30cm, and the parallelogram stands on the base 28cm, find the height of the parallelogram.
9. The length, breadth and height of a room are 5m, 4m and 3m respectively. Find the cost of white washing the walls of the room and the ceiling  at the rate of Rs 7.50 per m2
10. Find the median of following data : 17, 23, 57 , 46, 33, 29, 28, 30, 34. If the observation 23 is removed from data, find the new median.

Three Mark Questions :
1. Without actual division, prove that [image: image38.png](x—-2)



 is a factor of the polynomial [image: image40.png]3x% — 13x7 + 8x+ 12,



 

2. Simplify [image: image42.png]V6 43

2036 V3412 162




 
3. Draw the graph of the equation [image: image44.png]3x+y=6.



 Find the points where the line meets two axes.
4. It is given , POQ is a line. Ray OR is perpendicular to the line PQ, OS is another ray lying between rays OP & OR. Prove that 
(ROS = [image: image46.png]


 ( LQOS – LOPS)
5. l and m are two parallel lines intersected by another pair of parallel lines p & q. Show that [image: image48.png]AABC = ACDA
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6. The diagonals of a quadrilateral ABCD are perpendicular. Show that the quadrilateral formed by joining the mid-points of its sides is a rectangle.
7. Construct a triangle ABC whose perimeter is 12cm, [image: image50.png]


0 & [image: image52.png]


0
8. A rhombus shaped field has green grass for 18 cows to graze. If each side of the rhombus is 30m and its longer diagonal is 48m, how much area of grass field will each cow be getting ?
9. The sum of  the radius of the base and the height of a solid cylinder is 37cm. If the total surface area of the solid cylinder is 1628cm2 , find the volume of the cylinder.

10. To know the opinion of the students about the subject statistics, a survey of 200 students was conducted . The data is recorded in the following table.

	Opinion
	No.of students

	Like
	135

	Dislike
	65


Find the probability that a student chosen at random.

(i) Like statistics

(ii) does not like it

Five  Mark Questions :
1. Prove that
 [image: image54.png]P+ Y+ 2 =Bayz= 1 (x+y+2) G-+ (2= 0+ (v = 2)7]




2. AB||CD & CD||EF . Also EA[image: image56.png]


 AB. If ( BEF = 550 , Find the values of x, y and z.

3. The sides AB & AC of [image: image58.png]AABC



 are produced to points E & D respectively. If bisectors BO and CO of [image: image60.png]ZCBE



 and (BCD respectively meet at a point O, then prove that 
(BOC = 90 [image: image62.png]— £BAC




4. In right triangle ABC, right angled at C, M is the mid point of hypotenuse AB. C is joined to M and produced to a point D such that DM = CM. Point  D is joined to point B, show that :

(1)  [image: image64.png]AAMC = ABMD
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        A
(2) [image: image66.png]<DBC isaright angle




(3) [image: image68.png]ADBC = AACB




(4) CM = [image: image70.png]> AB.
3












         B                                          C
5. Show that the bisectors of angles of a parallelogram form a rectangle.
6. In the figure AP||BQ||CR. Prove that area (AQC) = area ( PBR)




7. If two equal chords of a circle, prove that the segments of one chord are equal to corresponding segments of the other chord.

8. A field is in the shape of trapezium whose parallel sides are 25m and 10m. The non parallel sides are 14m and 13m. Find the area of the field.
9. Hameed has built a cubical water tank with lid for his house, with each outer edge 1.5m long. He gets the outer surface of the tank excluding the base covered with square tiles of side 25cm. Find how much he would spend for the tiles, if the cost of the tiles is Rs.360 per dozen.
10. Draw a Histogram and frequency polygon from the data.
	Class interval
	21 – 24
	26 – 29
	31 - 34
	36 – 39
	41 – 44
	46 - 49

	Frequency
	30
	24
	52
	28
	46
	10


Answers :
 One Marks :

1) [image: image72.png]


2

2) IV quadrant

3) [image: image74.png]x = 2y,where x = cost of the notebook y = cost of the pen.




4) [image: image76.png]37°




5) [image: image78.png]36°



 [image: image80.png]144°




6) [image: image82.png]



7) 6.615cm2
8) 12

9) [image: image84.png]



10) 75 & 75
Two Marks :
1) 0.7507500…..          2)b=[image: image86.png]


 a=1     3)a=1     4) 324     5) 500,770, 530     8)12cm  
0.767076700….      9) Rs.555
         10)30, 31.5

0.80800800…….             
   Prepared By , Mrs. Subi Shahir, IX-XII Girls
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